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Unit 7: Data Analysis and Probability Math 8
7.3 Probability of Independent Events

Two events are _J "\Cl(oi)@r\d@/\ﬁk events when one event does /VO / affect the other event.

A coin is tossed and a regular die labeled 1 to 6 is rolled. @
This '}(QQ diagram shows the possible outcomes.
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Whether the coin lands on heads or tajl s has no effect on the outcome of rolling the die.
So, the two events are &
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There are l 0? possible outcomes. é
What is the probability of tossing heads? __~ ¢ €
What is the probability of rolling a 4? .2/12 - “/é

Y

What is the probability of tossing heads and rolling a 4?7 _7jZ Note that% X % = 11—2

The above illustrates the probability rule for two independent events:

P(A) and P(B) are the !}'\C( (v ‘\C‘/\/\CA‘? probabilities of the two events A and B.

~
P(A and B) is the probability of bd L A and B occurring.
/ﬁ
If A and B are two independent events, P(A and B)= \o (A) X P ( g )
e — 7

—

Step 1: Find the probability of each independent event.
Step 2: Reduce each independent probability.
Step 3: Multiply the probabilities and reduce!
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Try These:

1. A coin is tossed and a spinner is spun. The spinner has three equal sectors of red, green and blue.
What is the probability of the coin landing on heads and the spinner landing on red or green?

|
The probability of heads P(H) = /:\7

%

The probability of red or green P(R or G) =

The probability of the coin landing on heads and the spinner landing on red or green is.

P(H/R or G)= P(H) x P(R or G) =
N

2. The pocket of 2 g0lf bag contains 9 white tees, 7 red tees and 4 blue tees.

The golfer removes one tee from her bag without looking, notes the color, then returns the tee to the
pocket. The process is repeated.

Find the probability that the first tee is not red and the second tee is blue.

There are 20 tees in the pocket. GZ A Q/ = /3

" . 122
The probability of not red is P(not Red)= )
y 25
The probability of blue is P(Blue)= o~ \
The probability of not red and blue is

?(NM"@/B) = P (Dt @)x\’(%)

= 2 x ¢
26 5

= 3
/00
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